
ITCS 3166 Exam II  -  Preparing
1. Ethernet is:

A probably the most ubiquitous kind of computer network in the world

B called after the ether which could propagate in vacuum

C using a long cable resembling a yellow garden hose in its thin ethernet version

D using a switch, to connect all computers, in its classic ethernet version

2. With respect to wireless LANS:

i the most popular mode of 802.11 network is to connect clients, such as laptops and smart phones, to another network such as Internet

ii in 802.11 the MAC (medium access control sublayer) determines how the channel is allocated, and who gets to transmit next

iii the 802.11 techniques use either the 2.4 GHz or the 5 GHz ISM frequency bands, and therefore compete with garage door openers, cordless phones, microwave ovens, and other devices

iv 802.11 allows for collision detection using the CSMA/CD (Carrier Sense Multiple Access / Collision Detection) method

A i and ii

B i and iii

C i , ii , and iii

D all of the above

3. Which of the following statements is incorrect in relation to broadband wireless?

A with broadband wireless we erect a big antenna on a hill to cover the whole town, in this way providing a broadband wireless metropolitan area network

B another name for the broadband wireless technology is OmniMAX

C the broadband wireless base stations are more powerful than the 802.11 Access Points (AP), because they need to handle weaker signals over longer distances

D with broadband, the MAC (medium access control sublayer) uses a model where the base station completely controls the system - it schedules the downlink (i.e. base to subscriber) channels, and manages the uplink (i.e. subscriber to base) channels

4. Bluetooth is:

A a wireless standard for interconnecting computing and communication devices and accessories using low power inexpensive radios

B a Viking king who unified Denmark, Norway, and the Netherlands in the IX-th century

C a system with piconet, which consists of seven master nodes and slave nodes within a short distance

D is using a human interface profile for voice communication between headsets to hands-free devices

5. RFID (Radio Frequency IDentification) tags and readers are low-end devices that people may not recognize as forming a computer network. Which of the following are examples of RFID usage?

i pet implants

ii cellular phones

iii Walmart’s supply chain

iv vehicle license plates

A i, iii, and iv

B ii, iii, and iv

C i and iv

D i and iii

6. Which of the following statements is incorrect in relation to data link layer switching:

A repeaters, hubs, bridges, switches, routers and gateways are all various names that have been used for the same device

B virtual LANs allow for the occupants of a LAN to be chosen in a way that makes sense to the organization, without too much regard to geography (physical wiring)

C we can join LANs together to make a larger LAN by connecting them with devices called bridges

D when joining LANs together, the key is not to send traffic onto ports where it is not needed, so that each LAN can run at full speed

7. The network layer is concerned with getting packets from the source all the way to the destination, which may require making many hops along the way. What are some of the network layer design issues?
i services provided to the transport layer should be independent of the router technology
ii the network addresses made available to the transport layer should be uniform even across the whole Internet

iii the internal design of the network
iv Single Protocol Label Switching
A i and ii

B i and iii

C i, ii and iii
D ii, iii, and iv

8. What does a routing algorithm do?
A it decides which output line an incoming packet should be transmitted on
B as each packet arrives looks up the outgoing line in the routing table
C it creates a directed acyclic graph, allowing it to always find the optimal path
D it counts to infinity
9. Millions of people use computers while on the go, from truly mobile situations with wireless devices in moving cars, to nomadic situations with laptop computers used in series of locations. Which of the statements below is incorrect in relation to routing for mobile hosts?

A the mobile hosts introduce a new complication: to route a packet to a mobile host, the network first has to find the host 
B an efficient method to solve the moving host problem is to re-compute routes as the mobile host moves by using the directed acyclic graph (DAG) algorithm
C the basic idea for mobile routing in the Internet is for the mobile host to tell a host at the home location where it is now
D knowledge of the temporary location of the mobile host is limited to a small number of hosts
10. When too many packets are present in the network, that causes packet delay and loss, and performance degrades. This situation is called congestion. How do we solve this problem in the network layer?
A by keeping packets on a goodput line
B two solutions are: increase the resources or decrease the load
C by using the NRZI (non-return-to-zero inverted) coding

D as congestion occurs - replace low-bandwidth links with fiber-optics dynamically

